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Directionss Choose the word that best completes each blank in the passage. (No.61-65) LEaNATLAN LRI TEN

Scientists close to cure for the common cold

Infieynaderey lndanlsmurrndnidlunsAnduiine Toewi Andnenanand e swntheaan. .. o1 Lunnsfwsiedinelaada
British researchers may be close to a cure for the common cold. Scientists have worked ..c..6%.....On @ medicine to

flapningfigedda nsfwsmendiamnsenadiulsdmdsfifidudass. sz 1
end colds. The biggest problem was finding a drug that could fight hundreds of ......62......0f cold viruses. The viruses
LadEsantannsfi e ismie 9ae19sandantn sunssfietlsqiin felsdinreinunlsrdnld fedunonaidons s ypil
change very quickly and can fight against new drugs. Until now, there has been no cure for colds, so we al have to

dndnenananild _sa. Tamanadiasannnmmgsdelsasinlimeald

wssens..63uenVErY Year. Scientists have ....64.....a molecule that could make colds a thing of the past. They found that
sansynadiaanatannnsadetulafadily s5. vaswdn soomsloialfli@nnsndinemluinteniestlé
the molecule blocked the viruses that ....65.......colds, it stopped the viruses from working in the body.

61.©decades furd 2. $€aSONS 9ENM 3. standards sy 4. systems ssuu
62. 1) reasons wa 2. opinions aAmsin 3. occasions Tana types EURLEER
&.@suf‘f‘er g Ussau N 2. abandon s asae 3. mention sanads 4. measure 3% %9 M3
64. 1) practiced Ansix %o 2. damaged e 3. destroyed sinans developed N
65.®cause BIEL 2 arrange 39ein 3. discover Aww 4. reserve 3a9
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Directions: Choose the synonym for the underined word. (No.ss-70) AR SR BoTrRR T HER AR 14

aedEndnixamnsmassowdn 5 Fladen mmdmnnedias Uravosiand s
66. Do you think Il be able to achieve my goal of losing 5 kios before the summer?
@reach :Haudie 2) afford 3wl 3) alow %W 4) announce i@
wameiuiusnAnlsnilikens waduifsabainan | _
67. The new car costs a lot of money, but it’s certainly worth it.
- = ) ' L - -~ o &
1) basicaly inedmgm @deﬂmtety atnsiuam  3) carefuly edwsdessl  4) generaly Tmeilatlal
dndudiandusuuisfisluasinion e itisnnmniseane

68. A dancer must throw herself heart and soul into every performance

1) pleasure wals 2) presence eUINg @act NSLERI 4) production TGN

ENITUGTHUING WA THAITHE TN 1IRVEIHITEY

69. Students are al put in different groups according to their competence
1) activity fanss @abiﬁty RITHETH D 3) agreement mawmwsfudon  4) arrangement sosimdes
drelannrusininivinisfersamatum

70. The old lady climbed up the stairs with difficuity

1) experiencevssaunssiz) failure A3wdnesEs 3) knowledge Ramd @ hardness RIEIMARND

(s}
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Directionss Read the passages and choose the best answer to each question (No.71-74)

srwonandaniavignios Scientists solve mystery of Stonehenge

Scientists say they found details about who built the 5,000-year-old Stonehenge. The ancient stone
monument in England is famous al over the word. tHtow it was buit has been a mystery for thousands of years.
Scientists say the architects and buiders of Stonehenge could have come from Wales, more than 160 kilometres @
away. Researchers wrote that human bones found at Stonehenge were from mountains in west Wales. The researchers
said the oldest human remains found date back to about 3000 BC, which is over 5,000 years ago.

Stonehenge is a ring of giant standing stones. Each stone is four metres high and 2.1 metres wide. They
each weigh 25 tons. Scientists say Stonehenge was used as a burial mound. They are not sure how ancient people
moved the giant stones from Wales to Stonehenge. They believe the people they found buried at Stonehenge
helped transport and d):i(, up the stones. Researcher John Pouncett saids “People from the Welsh mountains not

only supplied the biue“£tones used to build the stone circle but moved with the stones and were buried there too.

ErndnenananslviBenSnduiesiuatmeans

fninenanarinanisseasiord Lendudedwalmeaififion 5,000 9 axandidfainlusanlsnasnsuiitadeshifialan ransduly
dasiisugnaireiilfadsladuisodenmmnd e dadnawaninduimnidoua e ealmemdibinananaad Teadsinmental 1o flacns
Enddetinfinliivesgnvudthufalmeadsameadnsien dnitefondtadnimesmndwafiged Ao filmesnifanglasrensiara 3,000 Wanmndn
5,000 {9ida

atauanidufoaduioddifathstoumny winsioufim wranaged 4 vums 2319 21 ams wasweasiewsnln 25 Ay dninetanarindinalny
rndeduganudlonssen wansdie sl maierendefmdurmdninadndealmeandlfad o ls sonyedareadipefiathmdialmeenitfoadudyoe
Tunsvndskasseuiusa S dr33eda aes s “Uss s aiad s fendiudilnniest e dusinsmaneades sl aud e daudiu
wrandladanyiond il onameluan it fiondudiy
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71. How old is Stonehenge? #lauauifiangviils
(3) about 5,000 years 2) about 3,000 years

3) about 8,000 years 4) about 2,000 years

72. ttow far did the article say Stonehenge was from Wales? smwummani¥nansamalameniaginesnaadiniils

1) just under 160 kilometres @ more than 160 kilometres
3) exactly 160 kilometres 4) around 160 kilometres

73. ttow much does each of the stones at Stonehenge weigh? fewiuaasiavvasainuanisinnls
1) 21 tons @ 25 tons
3) 23 tons 4) 19 tons

74. What kind of stone is the stone used to build Stonehenge? v tiFwlssanistiunsairoalamuansi
1) grey stone (@) blue stone

3) rock stone 4) hard stone

(o)
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Directions: Choose the best alternative to complete the sentences. (No.75-80) LEanfasammEENNLANes N5 TaR

Japan prepares for many foreign workers
drjuindsfioanlaadasiindiasnisaudicey fudrdaudonndgoay £.75....47 Yssnety emassmsdarudioeny
Japan is changing because it needs workers. It is an aging society. This ....75....it does not have enough

Usssnunfuf 3ulns asus samadn Fgutavenysiefude. 77 waunisk Teastfulsidungmneiaind 1 enen e tamdlaninsnayg
Shinzo Abe said his government wil meet to ....77....a plan, which could become law on April 1. The new law would alow up
L5999 3NN 345,000 AuwdindonaEdl 78, viemAsudasse it 7. angasssenudiand line oo uraaine aostssne
to 345,000 foreign workers to help With ..c.c...78......shortage of labor. .....79.....0f these wil work in construction, fishing,

DETARATYNIH asounInITy  wevendaulniansandusseudiidiasiviousganasindudassausiunenasaufirunne g
healthcare and agriculture. They wil be mainly low—skiled workers and .......80...to pass a Japanese Language test.

75. 1) mean @ means 3) meant, 4) meaning Mean = #%1@AITRIT

Usesmadl This = 89% = 1 st wisanyax ——> Amiawiandin s oo

76. 1) decide 2) decides @ decided 4) deciding Decide = Aindxla

sglus1l Present Perfect = has + V3 #winsfeias 3 w9 decide Aa decided

(o)
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77-@ approve 2) approves 3) approved 4) approving Approve= 8%

wa9 to + V1 base Aamianvilsifiandin s, es Toaviedx Jallx to approve

78. 1) their 2) theirs 3) it @its Tts = wasdx

2 2 = 5 4 1 > w o o a3 = = a g et : o
N ssamerazeiinies Soluwuadasiananidgeiguases Warinnatanddieasiofainiuantad Aeinduans
arskilsinvasisnnty its + Amam —2 its shortage

79. 1) Much @Many 3) More 4) Little

..0f these $98147 these wamefonvnaaguda fesiufisiifiufeniiuldnarante Aa Many

]
'

80. 1) should 2) must @need 4) can

e

Need to fadnilsdias we should asTluioasasae WEawsetIaInng d9ud191 must was can fassrwens Verb $aed 1

(s}
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Directionss Choose the best atemnative to complete the sentences. (No.81-85) raanARL ANl EEN

wares i dafiosmenndnbdindine ey siefis et tefrusnlswnd s defuta syt
81 We need 10 invest mMOre in cscessseesees.€Mployees in order to stay ahead of today’s competitors.

1) we @our 3) ours 4) us

ALLaRIRITLLISLANTBIULIAL TN A our + RTRIN
$a 1 Aessax / Y8 3 AsALERIRIsbLskA e IHNATL NN eY Y was Y8 4 sTNNsSH

Dnaifiasn s i Ugn shansacesmuiiu feneyiasians
82. Peter wanted to see the play alone; therefore, he reserved the ticket.......

1) for him 2) by him @to himself 4) with himseff

nsvinestsfonswas 1igvissas dnlssamuiln Peter = he sWiasasviaxiilx himself waziy1vi1isifinasds to himseff

83. Az “tave you ever seen a snake? AeAmAEg LN
B: ‘sYeS, CG'OGOCOOQQGGQOGQG.times” a‘g‘il ﬁaﬁ.tﬂ%eba%

@many 2) much 3) any 4) little

i 1 = v 8 | 2 < o 1 3 [ | C - o 3
Time sikbiaa1 “6381” axfulaile) wekih times § s aswiladn “A3e” fad1 Kule AsXn1H1E many

(s}
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Directionss Choose the best atemnative to complete the sentences. (No.81-85) raanARL ANl EEN

- b < 8 . w o
ATRTEIRRETTURNIRTINHWLUR™ AN TATINE s

84. You looked very busy when I saw you yesterday. What....ceesces.. ?
1) you were doing 2) had you done
3) you are doing (2) were you doing

HSanmind1 “when” Sndininde sinasfhuanisshint 2 wgmesl

i nalfiviatex 1918 —> Past Continuous (was, were + Ving)

v iTiviiauds 191§ - Past Simple (Verb 2)

Lulandhriidinlensasd 2 winedwdofiaini saw Seuivieeliidantl were « doing wasiitasaimihilszTaninw
UsrEm you 99R9BYWRY were

85. I told one of my Friends .ecesessssseess me a glass of water wwuarlidawlikanimmls
1) go and bring 2) going and bringing
3) went and brought @to go and bring

nsvhsasisilestusinas sl axi¥Tles9a519 told +someone + to do
o z e 2 o«
flesadell to go and bring

(s}
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Directions: Read the folowing sentences and choose the underiined part that is grammaticaly wrong. (No.86—30)
AR R LR IRERT L VAT TV AT CUETRIL S0

- { e Man aims Lo swim across the Pacific Ocean
Ay siAERE TR eN T Reenay U Ben Lecomte a1y 51 4 tfi'mémg75@147?{‘&3]%%253&58375
1 . ~ N
86. A French man wil try to swim across the Pacific Ocean. Ben Lecomte, 51, set off from Japan on Tuesday. It wil

3
X x 2 > ~ = XK - o = A a &
take him more than six month to finish the 8,000-km swim  #%3:1$389937 & fandiasfecdnied 2,000 flavnms

BHaalIgNIN

1 To + V1 deix —> to swim V
2. On + Jwlndaleni fisix — on Tuesday V
3 waskmien (take) dasdlungss wazdd1 him Sdlwnsn Vv
X 4. Six month 5if9 6 vBa% BeExA11 month fiB9vi b AR NANAA —=> months

pnasdnetiussesann 8 Salaedeiwdnas ity eflonsinaniastsnnaaainn bYTRsAaRIAEANT TN INHTE

87. tte wil swim for eight hours a day to get to the west coast of the BSA. He wil also face mlch dangers. There wil
findasilanaany wHensHEE WY AfuTIE Bas Lfduds
beg sharks, jelyfish, storms, rough seas, and very cold water. He wil also have to fight exhaustion and any injuries he

gets along the way. wassu-dedossiadiummoriasisasnaumiudiacifunaamduniodunie

1. Eight hours fifis & ¥aTss ——> &osw hours fiasdl s \awamenansntlnswan
X 2 Dangers Sxnam Txgussilusmwax ——> Foix fonnuldmuils many i3a1: many LEuSeniduls wa much - Fulals
3. Wil + V1 398191 have 88 has s373emsaaiind Verb to have fivi wie will + have v/
He gets gndi@s 13312 Uszax He, she, it AR 1 A% + aFeMviin s, es ¥

(s}
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8879159093 M. Lecomte 987937 “AnladAgnisnenie”

2 3
88. tHowever, Mr Lecomte said: “The mental part are much more important than the physical You have to make sure

4
you always think about something positive.” Lecomte trained for six years for this chalenge.
anwdiasulainndinasioan s st asarmei e T & 1)

X1 Mental wilad 0 fufefikulails dokxn ool is 1% are
2 YualssTendiSn more w1l% —> feslt more than V
Have to 1fffudszamilx I, you, we, they wiasywak
4 szsreihe you Sexdnn think Hladeadnezls

1 -] o - % 51 4 I ) o = Iy a L om
yTAtaN '&wi}ﬂ:oammmaimﬁa gfﬂm‘:?ﬁéﬂﬁwm?fmamm% s¥7 1iRnIn Lavaesy pduiin

8a. He has practiced every day by swimming in the sea to make sure he is in top physical condition. He also trained

@ whasfaeiAnitsmauanyiiin i lafidando 4
er mind. tte wil be ve

fer ry lonely and he needs to be mentally strong. tte is doing the swim to raise awareness of cliimate

change. wtandeslfelFnsmsdaivisiifen s fou s nemn e ffiiy

1 Has, have + V3 (Present Perfect) 33 has practiced @8 has + V3
2 fwdude by dandx Ving Vv

X3 Her fin wandiodanthulaaduaiu MrLecomte Sathudyie fekudiasls his
4 To+V1

(s}
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w3 1‘3 NIRRT R W VARV 99\3"1‘"5%‘" anenmey Tlafnanesiola 1uil 198
1

90. Scientists wil check his body to see how so much exercise affects the heart in 1938, Lecomte mag)s the first solo

3 4
trans-Atlantic swim. When he reached dry land, his first. words were, “never again”.

S
Lecomie dnenirluntsuiot Tsla yannd wanwandn iilsrisusn viiacy Souasdensahilold Asn wmmna “Leanas”

1 How much wiladmenialsfioseansdeinasadisla vV

X 2 Makes @16 63353 ha 5988091 MrLecomte speinwn —— foindiastilagx make vil% made
Reached iilxagn omisdomantoute Vv

»> o

First + a1 m%ﬂwsuae}emém'éwaem%wi%ﬂ b¥% first words = Abany

(s}
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Dlrections. Choose the word that best completes eac bl

Y= L%

_-4

61. 1)
3)

62. 1)
3)

63. 1)
3)

64. 1)
3)

65. 1)

3)

66. Do you think 'l be able to agblexe my goa ;

1)
3)

decades SiE 2)

standards ) e
reasons =
occasions e 0
suffer

mention

practiced :
destroyed = )

cause
discover

reach
allow

67. The new car costs a lot of money, but it's

1)
3)

basncally

carefully
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69. Students are all put in dlfferent groups accordmg to t
1) activity - 2 al
) 3) agreement 3 4)  arranger
70. The old lady climbed up the stairs with difficulty. .
1) experience 2) r
ked -; 3) knowledge @ hardness
uld ] : g
TPt Directions: Read the passages and choose the best answer (o]
to r Scientists solve mystery of Stone ng
Sa Scientists say they found details about who bunlt_,
ds. 3 The ancient stone monument in England is famous all ove
been a mystery for thousands of years. Scientists say _the ai'chqte~
= could have come from Wales, more than 160 kilometres awa
bones found at Stonehenge were from mountains in west-

buried there too."

71. How old is Stonehenge?
1) about 5,000 years ' 2)
3) about 8,000 years , 4) ,abog’;iif :

72. How far did the article say Stonehenge was from Wales
1)  just under 160 kilometres L) e
3) exactly 160 kilometres 3 ._ S _4) ~arol

73,

1) 21 tons
3) 23 tons

74. What kind of stone is the: stone used to b
1) ereystone
3)

rock stone
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. 75-80) —
Directions: Choose the best alternative to complete the sentences. (No.. ’3! 84.
_Japan prepares for many foreign workers t\\;é :
y p o . ? RS
Japan is changing because it needs workers. It is an aging society. This 75 _
it does not have enough workers. Japan's government has 76 to employ workers,::_‘ a5
: : - . IS
from other countries to fill jobs. Japan's Prime Minister Shinzo Abe said his government will A
meet to 77 a plan, which could become law on April 1. The new law would allow i
up to 345,000 foreign workers to help with 78 shortage of labor. 9 48 Direc
of these will work in construction, fishing, healthcare and agriculture. They will be mainly Bl
low-skilled workers and 80 to pass a Japanese language test. :
75. 1) mean 2) means
3) meant 4)  meaning &
76. 1) decide 2)  decides
3) decided 4)  deciding
77. 1) approve 2) - approves 87.
3) approved 4) . approving
78. 1) their 2)  theirs :
3) it 4) its :
79. 1) Much 2)  Many : Zhean =
3) More - 4) Little 3
3 88.
80. 1) should 2)  must :
3) need 4)  can = 5
Directions: Choose the best alternative to complete the sentences. (No. 81-85) = :
81. We need to invest more in - _employees in order to stay ahead of A
today’s competitors. ' 89.

1) we 2) our
3) ours 4) us

T

82. Peter wanted to see the play alone; therefore, he reserved the ticket
1) forhim - ' 2) . by him
3) to himself . ‘ 4) - with himself

.....

83. A:  “Have you ever seen a snake?”

B: “Yes, . times”

1) many S5 2) S miuch | o F
3) Sanyi s e (i e
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84. You looked very busy when | saw you yesterday What
1) you were doing 2)

3) you are doing 4) .were_yo,ud

85. | told one of my fruends ' me a glass of Water
1) go and bring - - 2)

3) went and brought : - 4)

Directions: Read the following sentences and choose -thev undéf
that is grammatically wrong. (No. 86-90) %

o

: Man aims to swim across the Paciﬂc'Ocea 351

86.

: 2

(3)

87. He will swim for eight hours a day to get to the we
(1)

l\.

88. However, Mr Lecomte said: “The mental part a[gm c

You have to make sure you always think- about S
(3) 1 (4) . !'-‘.A‘

six years for this chal[enge.

89. He has g@éi@d‘every day'by ;_wmmmgm
§ (1) , g s
condition. He also trained her mind. He wil

g ' - @) o

strong. e domg the swim to raise av
, SR (4)



